Random [@2251

- . - ; PQ,.)[Mb\\; F \/W\WWQ,
ot pwme:  WPX) WPD';‘%M )
9W 'I}ﬂ"z )k = [yﬂﬂ”fhp/
Jamt stcad remainy pa.':h‘xfad,
fweeh | rewene YA hate
e indned  Pecoivg /CT(ZU f ) —)
[.eam W[A_e\ ()D CG\MVQ f Q5 a paochne
bﬁh\,q,)u\ \Jaw AVLS, ¢ H\MLBVD p&(alﬂhvh,y)

Idon,  Jecain, R alg  Unsoble owd
fﬁm\@ i) 0*"’/'{‘%“'3.

Uindle: i you  Siyhlly pors e faabing - Jatstr)
o/ ©n gt < um A= palol.

Ov‘mlﬂ‘fvb‘. n\@w\am{ino e  Midowm  noipl A R
mf '\m Jokapt ety e Hhe "
Jnd \7

W e (Signal)
— Shw ecthmglp

Wht 0 do dbper  dnic ! Aﬁ\’- 2o BRQ'&Mu\,

Unstable methods can have their accuracy improved by, rbing an
combining, that is, generate multiple versions of the predictor by perturbing
the training set or construction method, then combine these multiple versions

into a single predictor. S .
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CStimated Valne, (0 pRabiiv)

a@gﬂ\ax:

‘(Go, F}I furt)

WfO\ (x).

Up 3, 4th & 1, 14 yards from opponent end zone

Qtr 2, 03:58 | Timeouts: Off 0, Def 3

Win % if

Win % Success %! Fail Succeed

Go for it 72 68 64 76

Field goal attempt 68 94 62 69

1 Likelihood of converting on 4th down or of making field goal
Source: @ben_bot_baldwin

()

4th down decision bot

--->CIN (3) @ KC (6) <——-
KC has 4th & 1 at the CIN 14

Recommendation (STRONG): @ Go for it (+3.8 WP)
Actual play: @ (Shotgun) PMahomes pass short right to T.Kelce for 14
yards, TOUCHDOWN. H.Butker extra point is GOO

(®)

Figure 6: Baldwin’s decision making for example play 1.
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Up 1, 4th & 5, 71 yards from opponent endzone
Qtr 3, 5:53 | Timeouts: Off 3, Def 3 | Point Spread: 3

decision WP ) success prob WP if fail WP if succeed baseline coach %
Punt 0.440 0.934
Go for it 0.426  0.345 0.557 0.066
Field goal 0.345 0.000  0.345 0.548 0.000
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